同じ数の積
氏名（　　　　　　　　　）
１　次の計算をしなさい。
　　(１)　４２ 　　　　　　　　　(２)　３３　　　　　　　　　　　 (３)　２５　




　（４）　－３３　　　　　　　　　　　　　（５）　２




２　次の計算をしなさい。
　(１)　（－３）３　　　　　　　　　　　　　　(２)　－５３　　　　　　　　




(３)　－１．５２　　　　　　　　　　　　　　　　　　　　　　　　(４)　（－４）２×（－７） 　　　　　　　　




(５)　（－６２）÷（－２）３　　　　　　　　　　　　　　　（６）　－７×（－３２）　　　　　　　　　




（７）　（－２３）÷（－４）２　　　　　　　　　　　　　（８）－０．３２×１０２





同じ数の積
[bookmark: _GoBack]氏名（　　　解　答　　　　）
１　次の計算をしなさい。
　　(１)　４２ 　　　　　　　　　(２)　３３　　　　　　　　　　　 (３)　２５　

１６　　　　　　　　　　　　　　９　　　　　　　　　　　３２


　（４）　－３３　　　　　　　　　　　　　（５）　２

－２７　　　　　　　　　　　　　　　


２　次の計算をしなさい。
　(１)　（－３）３　　　　　　　　　　　　　　(２)　－５３　　　　　　　　

２７　　　　　　　　　　　　　　　　　　　－１２５


(３)　－１．５２　　　　　　　　　　　　　　　　　　　　　　　　(４)　（－４）２×（－７） 　　　　　　　　

－２．２５　　　　　　　　　　　　　　　　－１１２


(５)　（－６２）÷（－２）３　　　　　　　　　　　　　　　（６）　－７×（－３２）　　　　　　　　　

　　　　　　　　　　　　　　　　　　　　　　６３

（７）　（－２３）÷（－４）２　　　　　　　　　　　　　（８）－０．３２×１０２

　　　　　　　　　　　　　　　　　　　　　－９



